Maths: Subtraction crossing 10.

Activity 1: Solve these subtraction problems. Remember to show your working.

) Jock has 11 apples.
Mo has 5 apples.

Jack 1

Mo 5

How many more apples does Jack have
than Mao?

Tick the number sentence that answers
the question.

M+5=16 1MM-5=6

o Eva has 13 sweets.
Teddy has & sweets.

How many more sweets does Eva have
than Teddy?

Eva has more sweets than Teddy.

L3

There are 17 animals on a farm.
There are 9 horses,
The rest of the animals are sheep.

a) How many sheep are there?

There are sheep.

u] Choose two cards to mmplete
the subtraction.

b) How many different subtractions can
you maoke?

Work out the answer to each one.



Maths: Subtraction crossing 10.

Activity 2:
Can you solve these puzzies?
f o
12,9,16,7,20
Which 2 numbers
have a difference
5 of 57

All and I have 14
sweets (n total

I have 6, How many
does Alt have?

Can you write your own subtraction puzzle?

Your workings for Ali's problem (use a number line and counter to help you
work systematically)

D1 2345 6T7T8%10NMRIVBLERWTERG

Your workings for Mo's problem:

01 2 34 567 8% 1N0NMEEBLENLTIES 20




Maths: Subtraction crossing 10.
Answers

than Mo?
the question. ;

M45=16




